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Math 240 Quiz 2
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a) Find all solutions & to the equation AZ = | 0
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1. Consider the matrix

b) Find all solutions & to the equation AT = ( . Do this any way you want, but

-9

1 1
you can do it without any calculation if I tell you that A ( 1 ) = ( 4 ) and
1 -9

you use part a).
¢) What is det(A) =7 You can calculate this, but you can also tell the answer without
any calculations using part a).
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2. Find all the eigenvalues and eigenvectors of the matrix.
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3. Diagonalize the matrix (7pts)

- (42)

then find A0 (3pts). That is, find a matrix P and a diagonal matrix D such that
P'AP =D
Then use this to compute AW,
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